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General Instructions :

Read the following instructions carefully and follow them :

(i) This question paper contains 34 questions. All questions are compulsory.
(it)  This question paper contains two sections :

Section A — Macro Economics

Section B - Indian Economic Development

(iti) This question paper contains 20 Multiple Choice type questions. Each question
carries 1 mark.

(iv)  This question paper contains 4 Short Answer Type-I questions. Each question
carries 3 marks. Answer these questions in 60 to 80 words.

(v) This question paper contains 6 Short Answer Type-1I questions. Each question
carries 4 marks. Answer these questions in 80 to 100 words.

(vi) This question paper contains 4 Long Answer type questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.

(vii) Attempt all parts of a question together.

(viii) In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

(ix)  There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

SECTION A
Macro Economics

1. Read the following statements carefully : 1

Statement 1: The price of a given currency in terms of another is
known as bank rate.

Statement 2 : Demand curve for foreign exchange is a downward
sloping curve.

In the light of the given statements, choose the correct option from the

following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.
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2.  WN ST, foret stefegaeen |, Fafsa == s Scaea & i €
1178 Reorfa o srefegaeen g yvg & Gy 1 Gt foreheq i ug=m Fifs
(1) AT ﬁﬁ'ﬂﬁﬁﬂmﬂ'ﬁﬁ(inventories)ﬁw
(i) TS T H Jha
(iii)  AITILT H IrloIeh ScuTe & H St
(iv) ASTTEAT § TSR T |

&rea
(A)  Had (i) B) (1) AR (D)
(C) (iii) 3R (iv) D) (i), (iii) 3 (iv)

3. UEHH I fo, Freafctiiad # & shi=-a forasft 9t <kl it o1 Uk H1q 727 & |
@& fashed &1 == Fifs)

(A)  SEGAT IR QAT HT ST

(B) R gRT forast § & aret 379 UfEm shi SR
(C) Torer Im W SH oot IR qeieeh

(D) 3y fowa & gred ko

4. 31T AT AT SHIN A B, HHTIRad drfetent sl 90 hIfS ;

CHAEETR EIEPE IS
3T (Y) ECCl ST S 3T Yg
(T HEH) | (T HH) | (T FeH) (APC)
0 (). 30 -
100 0 ...(11)... 1
200 30 170 0-85
300 60 240 0-8
%wcr:
(A) —30,120
(B) 30, 120
(C) 0,70
(D) —30, 100
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2. Suppose in an economy, planned spendings are greater than planned
outputs.
Identify the correct option with respect to effects on the economy : 1
(1) Decrease in planned inventories in the economy
(i1)  Rise in National Income
(iii)) Decrease in real output level in the economy
(iv)  Decrease in employment level in the economy

Options :
(A)  Only (1) (B) () and (i)
(C)  (ii1) and (iv) (D) (1), (iii) and (iv)
3. Identify, which of the following is not a source of demand for foreign
exchange. (Choose the correct option) 1

(A)  Imports of goods and services

(B)  Gifts by Indians to their families living abroad
(C) Indian tourists visiting foreign countries

(D)  Loans from Rest of the World

4, Using the given information, complete the following table : 1

(Choose the correct option)

Income (Y) Savings | Consumption | Average Propensity to
(in Tcrore ) | (in Tcrore )| (in Tcrore) Consume (APC)
0 (). 30 —
100 0 W) 1
200 30 170 0-85
300 60 240 0-8
Options :
(A) -30,120
(B) 30,120
(C) 0,70
(D) -30,100
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ST 7T LT 2 |
(C)  HNTH (A) Ecd 8, |fehd RN (R) 31Eca 2 |
(D) MR (A) HEA &, Al HRT (R) T 2 |
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5. If the total credit created by the banks is ¥ 500 and Reserve Ratio is
20%, the value of primary deposits would be . 1
(Choose the correct option to fill in the blank)
(A) T 200 (B) ¥ 300
(C) <100 (D) < 500
6. Central Bank can decrease the money supply in the economy by
1
(Choose the correct option to fill in the blank)
(A) lowering the cash reserve
(B) increasing the bank rate
(C) lowering the bank rate
(D)  purchase of G-Secs (Government Securities)

7. Read the following statements — Assertion (A) and Reason (R) carefully.
Choose the correct option from those given below : 1
Assertion (A) : Other things remaining constant, devaluation of domestic

currency may lead to rise in National Income of the
nation.

Reason (R): Devaluation of domestic currency refers to reduction in the
value of domestic currency by the government with respect
to foreign currency under the fixed exchange rate system.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.
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8. Ifd Tk FeamHt @l] (upward sloping) et @ UM %A, Y-378T o fohet
GhTeHes HewTiah (coordinate) W 3id:@S (intercept) SHTAT 8, AT $HHT ATcqd I8
T foF ot ¥ gfg B W Hmia SawrT yaft (MPC) q«T Sftad
ITIRT YT (APC) | 1
(e w1 <Al afed o ToTq Bl forshed =1 =R ShINT)
(A) Terwft, % gig gt (B) #afgnft, #afganf
() ferwf, & finee anft (D) ® firrae gnft, & fitrae gnft
9. UM shifv fF, Feafafaa @ @ Fi9-Ht 7e v it U 111 & A1kt | |ftafad
&1 st ST | @& fareg s Fifsr) 1
(A)  9Rd T AT H 1 Wi Hariera shi e I
(B) &R W BN ATt ™
(C) = affenl ! WA % &9 H $[TdH
(D) Torelt o T sfeh skl YT fofar e 4TSt
10.  afe FeRT Uk (K) T8 5 2, A1 S srerd e 0 | 1
(ert o <h1 g oh ToTq wiet forshe skt =i hifTg)
(A) S=-60+025Y
B) S=-60+075Y
(C) S=-60+020Y
D) S=-60+060Y
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8. If an upward sloping straight line consumption function makes an
intercept at the Y-axis at a positive coordinate, it implies that Marginal

Propensity to Consume (MPC) and Average Propensity to

Consume (APC) as the income increases. 1

(Choose the correct option to fill in the blanks)

(A) remains constant, rises (B) rises, rises
(C) remains constant, falls (D) falls, falls

9. Identify, which of the following items will not be included in estimating
National Income of India. (Choose the correct option) 1

(A) Salary to Indian residents working at the Russian Embassy in
India

(B)  Income generated from smuggling
(C) Payments to farm workers in the form of foodgrains

(D)  Interest paid by a firm to a bank

10. If the value of Investment Multiplier (K) is 5, the relevant saving

function would be . 1

(Choose the correct option to fill in the blank)
(A) S=-60+025Y
(B) S=-60+075Y
(C) S=-60+020Y

(D) S=-60+060Y
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11, YTdH Hde AR SR o o siter Sat T2 iy |
12. () e QU ITE Hiskel g SRS ™ (NDPp) sl TOHT HIfSMT -
il faaor - .
g (TG H)
(1) | TR o 9 Hehed ST 3UTg 2,500
(i) | TEoR St T ST 200
(iii) | &g o TR 20
(iv) | 39a™ 50
(v) | ToraRIl & T 308 ek T 50
(vi) | & ¥ afiEdq 30
(vii) | Tt afeaf s sTorefara eri 500
CPE|
(@) oIl & 9TH 31 |red TR (NFIA) ol ORWTING shiISTT qeiT 38 Siehi i
ST ST |
13. (%) “Teh AAFGET I & II-USHTR Tl I GTford e & g |7
g feafa Fm gonidt € 2 3o Rufa @ fuea & forw fordt v Ui Sumr @
==t hifew |
JrAST
(@) Uk e HEATHE ISTEL0T o TN ik &R | Sarsy foh, fasr & i
TS TR g sTeferaee o 3ifaw 1T o T ol hel TTferd ahtel & |
14.  “1990 % &I H, YR fiwd o (RBI) &l TaTE W, 9Rd SR o fafi=T i
T8 TuT YeR i fiRet T a1 foie form o |1
ST YA o HATAIF H, TEHR o Siohl, TSIE I HATEHN o &Y H hesg sieh ! ol
U HEY | == ST |
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11. Distinguish between Balance Payment and Balance of Trade. 3
12. (a) Calculate Domestic Income (NDPp) from the data given below : 3
S. No. Particulars Amount
(in < lakh)
i) Gross National Product at market price 2,500
(i1) Consumption of fixed capital 200
(iii) | Goods and Services Tax 20
(iv) | Subsidies 50
(v) Net Factor Income from Abroad 50
(vi) | Changes in Stocks 30
(vii) | Unexpected loss of a fixed asset 500
OR
(b)  Define Net Factor Income from Abroad (NFIA) and discuss its
components. 3
13. (a) “An economy is operating at under-employment level of income.”
What does this situation indicate ? Discuss any one fiscal measure
to tackle this situation. 4
OR
(b) Elaborate using a hypothetical numerical example, how a given
initial increase in investment affects the level of final income of the
economy. 4
14. “In the 1990s, on the advice of Reserve Bank of India (RBI), the
Government of India took a decision of hypothecation of gold reserves to
different nations.”
In the light of above statement, discuss briefly the role of Central Bank
as Banker, Agent and Adviser to the Government. 4
58/6/2 11| Page =43 P.T.O.
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15. Estimate the value of Aggregate Demand (AD) in an imaginary economy : 4
(1) Autonomous Investment (Iy) = ¥ 200 crore

(i1)  Investment Multiplier (K) =5
(111) Level of Income (Y) = T 4,000 crore

(iv)  Autonomous consumption expenditure (¢ ) = T 50 crore

16. (a) () Suppose, there are only three firms in a hypothetical
economy, viz. A, B and C. During a given period of time, the

following transactions were under, taken by them :

) Firm A sold goods worth ¥ 2,000 to firm B and ¥ 1,200
to Firm C.

(I)  Firm B sold goods worth ¥ 1,100 to Firm A and ¥ 3,500
to Firm C.

(ITI) Firm C sold to households for final consumption,
goods worth ¥ 5,700.

Estimate the value of Net Domestic Product at Market Price
(NDPyp) assuming depreciation to be ¥ 120. 3

(i1)  Explain the likely impact of construction of 2000 new schools

providing high-quality education in a nation on Gross

Domestic Product and welfare in an economy. 3
OR
(b) (i)  Distinguish between Real Gross Domestic Product (GDP)
and Nominal Gross Domestic Product. 3

(i1)  As per a news dated April 11, 2023 :
“Electric Vehicle sales crossed one million mark in FY 2023.”

Analyse its impact on Gross Domestic Product (GDP) and
economic welfare. 3
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Note : The following question is for the Visually Impaired Candidates only
in lieu of Q. No. 16 (b) (ii).

Explain how, ‘non-monetary transactions’ in an economy act as a
limitation of using GDP as an indicator of welfare.

17. Read the following text carefully :

Government provides certain goods and services which cannot be
provided by the market mechanism. Examples of such goods are national
defence, roads, government administration etc. which are referred to as
public goods.

There are two major differences between public and private goods. One,
the benefits of public goods are available to all and are not only restricted
to one particular consumer. For example, if a person wears a shirt, it will
not be available to others. It is said that this person’s consumption stands
in rival relationship to the consumption of others. However, if we
consider a public park or measures to reduce air pollution, the benefits
will be available to all. One person’s consumption of a good does not
reduce the amount available for consumption for others and so several
people can enjoy the benefits, that is, the consumption of many people is
not ‘rivalrous’.

Two, in case of private goods, anyone who does not pay for the goods can
be excluded from enjoying its benefits. If you do not buy a ticket, you will
not be allowed to watch a movie at a local cinema hall. However, in case
of public goods, there is no feasible way of excluding anyone from
enjoying the benefits of the good. That is why public goods are called
non-excludable. Even if some users do not pay, it is difficult and
sometimes impossible to collect fees for the public good. These non-paying
users are known as ‘free-riders’. Consumers will not voluntarily pay for
what they can get for free and for which there is no exclusive title to the
property being enjoyed. The link between the producer and consumer
which occurs through the payment process is broken and the government
must step in to provide for such goods.
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On the basis of the given text and common understanding, answer the
following questions :

(a)

Describe how the Government’s role in providing public goods

impacts community welfare. 3
(b)  Define free-riders. Explain the challenges posed by the free-riders
in the context of public goods. 3
SECTION B
Indian Economic Development
18. White Revolution is associated with 1
(Choose the correct option to fill in the blank)
(A)  Horticulture (B)  Fisheries
(C)  Dairy Production (D)  Animal Husbandry
19. In China, under , peasants were provided with pooled land to
create larger fields that could yield greater output and they shared farm
implements. 1
(Choose the correct option to fill in the blank)
(A) Joint Farming System
(B) Commune System
(C)  Great Proletarian Cultural Revolution
(D)  Green Revolution
20. Study the following image and identify the measure adopted by the
Government to improve agricultural marketing. 1
(Choose the correct option)
(A)  Cooperative credit societies (B) Regulated markets
(C) Transportation facilities (D) Dissemination of information
58/6/2 # 17| Page =43 P.T.O.



qIe :  HEIREd 97 Fad gIEaTiaa aaerTierat & 1o7q 394 G821 20 % T4 W e |
UEeH hIfST foh, Trmfcifiad # @ sH-61 S SR i fordue § o o fofg 7oy
MUY AT TET 2 |
(A)  H&HRI T giufaar
(B) M-t (unregulated) IR
(C) e qie gleemd
(D) =T YR
21. HRUAAY U U AT BRES’ (GLF) SAGIeH shi JEATT hl o |
(Ferd o b1 g oh ToeTq wet forshed <A1 == hifT)
(A) 1951 (B) 1955
(C) 1958 (D) 1962
22. FrAfIRad ot — AR (A) TR FRT (R) il AHIE T | el fau e foshedi
o wE foered g ;
TIAFIT (A) : 99 1921 I g2 fausies 9¥ (Year of Great Divide) el SITAT 2 |
FRU(R) : ¥ 1921 o 39T, WA hl SIHEEAT I & H o1 sgiadl gs off |
%F:b_c"!r:
(A)  ERAT (A) 3R FHAT (R) IHT T & 3N FHRT (R), NRTRAT (A) Y ¥l
T HAT R |
(B) MR (A) 3T HIOT (R) SHT G &, Afohd 1T (R), TR (A) i gt
IREAT T FdT & |
(C) AMNFHIT (A) T B, T HRT (R) TR |
(D) INRAT (A) 3 =, AR FIOT(R) I 2 |
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Note :

The following question is for the Visually Impaired Candidates only
in lieu of Q. No. 20.

Identify, which of the following measure is not adopted by the

government to improve agricultural marketing.
(A)  Cooperative credit societies
(B) Unregulated markets
(C)  Better transportation facilities

(D) Dissemination of information

21. Mao initiated the ‘Great Leap Forward’ movement in the year
(Choose the correct option to fill in the blank) 1
(A) 1951 (B) 1955
(C) 1958 (D) 1962
22. Read the following statements — Assertion (A) and Reason (R) carefully.
Choose the correct alternative from those given below : 1
Assertion (A) : The year 1921 is called as the Year of Great Divide.
Reason (R):  After the year 1921, India experienced a sharp rise in its
population growth rate.
Options :
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
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23.

24.

25.

26.

“Hd FCHR 3 forell =afeh o foTu stfersham fffr emeor €T (safiesn) o e <t i
ITOTS off |
TH GTIROTET _ hEIHIMTICIR |

(e o <A1 g o ToTq |e forshed T == h1fTY)
(A) e shifd (B) i ufEfaa
(C) forsra sl (D) wafoE shifd

T shifTe o, fmaferfiad # & -8 Serlientor sl e Tohr @ IRTiid st 2 |
GHAEESREIRCPEETIE 1Y)

(A)  HreISIh &5 % SUsRHT (PSUs) o I o U feedt sht wehwged fershl
(B) =9 forea o @y Afeid wehlsor

(C)  3refeurae o fofir=T &3l Ut T gRT SIITT 7T it shT 82T
(D) AT SAEATI W& &1

frefaftaa o o fora Tee/for gl 3 smfdfer fasma & fore d=erdiar st gl < uTeH
[ERIR I GHEEEIREIRCPEETIE 1Y)
(i)  9d (i) ==

(iii)  TfeREaT (iv) O TST ST

forepea

(A @), (i) 3R (iii) (B) (i) 3R (iii)

(©) (@)W (iv) (D) %ad (iv)

Hohdeh oh! GHINSTE o TsHIfas Folr o o SHaiferha arfiert &
T o &9 T I R ST wehar 2 |
(e o <A1 g o TeTq |e forshed sl == h1fTY)
(A) R (B) TadAdm
(C) ey (D) SHHIRTh
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23. “The Indian Government adopted a policy of fixing maximum land
holding limit (ownership) for an individual.”
It is commonly known as . 1
(Choose the correct option to fill in the blank)
(A)  Green Revolution (B) Land Ceiling
(C)  Marketable Surplus (D)  Golden Revolution
24. Identify, which of the following correctly defines liberalization. 1
(Choose the correct option)
(A)  Outright sale of part of shares of Public Sector Undertakings
(PSUs)
(B) Increased integration with the rest of the world
(C) Removal of restrictions imposed by government on different sectors
of the economy
(D)  Focus on import substitution
25. Which of the following country/countries followed the Five Year Planning
structure of economic development ? (Choose the correct option) 1
(i)  India (ii)  China
(iii) Pakistan iv) USA
Options :
(A) (1), (i1) and (iii) (B)  (i1) and (iii)
(C) (@) and (iv) (D)  Only (iv)
26. indicator may be defined as the measure of the extent of
demographic participation in social and political decision-making. 1
(Choose the correct option to fill in the blank)
(A)  Economic (B)  Liberty
(C) Health (D)  Demographic
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27.

28.

29.

TR ol ht eargeish IQu :

FYT1 :

R 2

USTTR Uk UHY Tiafafey ®, St forefl safeh vt 319 9iER & fora sTrsfiferspt
T TG TS T T T ST § |

U I8 & S, ST IcqTesh ! g Fohel BN 3ca1e (GDP) | AWeH
g |

e T Tt o aATetes W, FAfiad # @ gt faenea o1 w9 Fifse

(A)
(B)
(C)
(D)

(%h)

@)

FUT 1 T & AN HIT 2 3T & |
FUT 1 AT AN FIT 2 T ¢ |
FUT 1 A2 TAE |
FUT 1 N2 THI T |

“fsrfeet wmem & WM, el B 3TE (GDP) # 3fiefireh & o1 AveH oee

hH &1 T |”

3T I o THS T A=Y ekt Afed iU MU e o1 3itfre forg fifsre |
AT

“ferfesT wmEa & 3iqria STl AT & foema & fis 319l Aehde R &

AT 2! RIS Floramd Y& ST A1 8o Tty Sfdf-a e f&at = e §

IGAT AT |7

T 3ATY T 7T HoH T TEHT & 2 A9 ST oh TR § 7= FHI0T 9IT |

faw g ot o AR W, A it 107 o G Rl GHEATST ST W shi AT g §
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27. Read the following statements carefully :

Statement 1: Employment is an activity which enables a person to earn
means of livelihood for his/her family.

Statement 2: A worker is the one who contributes to the process of
Gross Domestic Product (GDP) by rendering his
productive services.

In the light of given statements, choose the correct option from the

following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C)  Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

28. (a) “During the British rule, contribution of industrial sector to the
Gross Domestic Product (GDP) remained very low.”
Justify the given statement with valid arguments in support of
your answer.
OR
(b)  “The real motive behind infrastructural development under the
British rule was not to provide basic amenities to the people of
India but to subserve various colonial interests.”
Do you agree with the given statement ? Give valid reasons in
support of your answer.
29. On the basis of the given image, explain the source of human capital
formation which may contribute to the economic growth in India.
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e :

31.

32.

33.

IR o Al gIEaTiera qRierierat o fo7q 97 G 29 & T W e |

W Yt T o | o w9 e H e sht s fifs |

@) “219 wATSEr § I H gRO fohe SR @TEr G O FA H g
STEITTeRT Teh HEwerqol fHeRT =T Hehell € 17
T 7T e T 9y et & a1y e fag Fifse |
HAAT

@) TTHiT foeRT § HRg SUSTeYdT o Hewd hl SIReT shifwTT |

U fohegl a1 RO Rl HedeRd shiTSTQ fSieh TR qX =i 3Tfeeh forehm o dffer gfg
% |

“TTH Tk o1 10 TEAT & % 69 o T i ofT | 36 |THTISIeh Geat Are STed e
glare |

S Tl W $fTd USHIR <hl Tehfel <l U&= o AT hifsT |

ffafad Ta it emEe ufe ;

JAN o dGd 8T e Yaial (footprints) % HRUI, A Hehe H W@
ANTEeAl o ®9 H fIgd 9 $09Td &7 gl 3 @7 8 | Sy aiEad sl it 8§
TN I o FSEET Bl Fled Yeial (footprints) 1 FH A aTell Jemell o
ITShATSAT hT ITeT ahieh &1 YT ST EehdT & | I8 B fora-aeor 9 & 6via § |

B fora-aI9oT =T g HraisT(eh, st 37T iyt &1 & aRofi faene o
foru forfia e (i, wrgshi-shfee, iuT 3K Faw &) F s A g |

ARRereh BT ford (WeATeret W i) = oft AR shafit st it T 3
foam & | IRaes foerme for e 3R o (he) €N Sl 3R STat-forRqa St afEsmmstt
o ToTe Tl & O ekt |l (3fodet ST o 3T o o fIg IR 2 |

BN forT Friareor i TurerT, STieien forerr o forftar Hel ot wehrrersh T ST
Gl €, ST B Ao i TichTied hid &, S foh Hersq 19 Scasid sl %4
AT, ST S&TAT H T HTAT AT SHoreh ST § Iheg, FET |
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Note : The following question is for the Visually Impaired Candidates only
in lieu of Q. No. 29.

Explain ‘Investment in Education’ as a source of human -capital

formation.
30. (a) “IT can play a critical role in achieving sustainable development
and food security in the 215 century in the country.”
Justify the given statement with valid arguments. 4
OR
(b)  Explain the importance of credit availability in rural development. 4

31. Evaluate any two factors that led to the rapid growth in economic
development in China. 4

32. “Ram was employed for less than 10 days in a company. He does not get
social security benefits.”

Identify and explain the nature of employment indicated in the above
text. 4

33. Read the following text carefully :

Growing carbon footprint of industries have put power and steel
sector in the spotlight as the major contributor to the climate crisis. The
challenge of climate change can be tackled only by making our industries
and businesses follow practices and processes that reduce their carbon
footprint. It can be possible only with green financing.

Green financing aims to increase the level of financial flows (from
banking, micro-credit, insurance and investment) from the public, private
and not-for-profit sectors to sustainable development priorities.

Global green finance has also started chasing Indian companies.
Global development finance institutions and funds are ready to offer
long-term support (both equity and debt) at cheap rates to projects like
solar energy and hydropower.

Green finance can positively affect environment quality, economic
development and financial issues that promote the green economy, such
as reducing greenhouse gas emissions, improving energy efficiency or
enhancing the organic economy.
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few o g 3 g IE % R ¥, fAEfifiaa get o ST
@) efia ot ot o1 9 3e9 T Ieer s |

@) &R ford-uryor o fereel a1 i ot == ShiTSe |

34. (&) (1) “ITHHT ARG & AT Felet Gehrrensh GROTHT aTelt U TiraT &I R |17
fou 7T She T AT TS o AT GHeI 3TET e hifTT |

(i) “EeTar Wi AT § FN & H foriifcrai & IH" § qHar 1 a8
TS BT AT |7
FIT 3T 5T 7T e  WeHd & 2 I TR Gied 70 I T qHeH
IS |

AT

@) () “FNI9EH WHN ford T 9 S S &, T I8 e F € et
% foTe e 8 17
few T e AT Fu ToedeRTT o Ay Sifrey fag fifse

(ii) IS Al o SFld WA H USHIRK SN GHAT YT L | T IR AT
VIfHreRT T Held | =i Al |
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34.

On the basis of the given text and common understanding, answer the

following questions :

(a)
(b)

(a)

(b)

State the meaning and objective of green finance.

Discuss any two benefits of green financing.

(1)

(i1)

(1)

(ii)

“Globalisation has been a process for India with only positive

results.”

Defend or refute the given statement with valid explanation.

“The goal of equity was served by ‘Abolition of Intermediaries’

in agriculture in the post independence period.”

Do you agree with the given statement ? Support your answer

with valid explanation.
OR

“Farm subsidies put a huge burden on the government

finances, but are necessary for poor and marginal farmers.”

Justify the given statement with valid explanation.

Discuss briefly the role of small scale industries in generating

of employment and equity in India under the planning period.
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